=LPDB

*UXSD S5RINiDG 7/

7\

SRQLHG]LDEHN

7N\J

6SHF QDXF] (PLVID
JiRVX GU KDE
-H]LRIRZVNL 3UTHP\ViDZ
=0 &/ &l
& (07 @G/
8&.81%/ (*
8&.81%/ (*/

JU JJIRGQIH T 1DSIVDPL
Z 8626

7\6]

6SHF
QDXF]
(PWID
JiRVX Gl
KDE
-H]IRIRZWN
L

3UHP\VID
Z =%

&
/&l
& (O
/

G/
8&.8 1%
/
8&.8 1%
/
/

a0
JIRGQH ]
1psivoPL z
8626

7N\J

6SHF QDXF] . XUIXUD
ICT\ND GID QDXF]\FLHIL GU
GNRFJ\IDV . URID (G\ID

- &/ &l&
©7/ G/
8&.81%$/ .-1

8&.81$/ -1/

JU JIRGQIH ] IDSIVDPL
Z 8626

7N\

+IVIRUID PXJ\NL ]

WIHUDIXUg PX]\F]Qa iZ

-RVILJHZD _UT\V]IRI =%
©7/

= INJRGQIDFK RG  GR

DICFID Z JRG]

7\6]

6SHF
QDXF]
- XIIXUD
ICT\ND GID
QDXF]\FLHL
el
BNRF]\IDV
-URID
(G\ID =
&
/ &l
& (O
/
3/
8&.8 1%
/ .1
8&.8 1%
/ .1
/
NIl
JIRGQH ]
1DsvoPL Z
8626

7\6]

36z =HVSRI\ ZRNDIQH

=HVSRI\ ZRNDIQH iZ Gl

KDE -H]LRURZVNL

3UJHP\ViDZ =%

7 ©7
©/ ©o

033/
0337/

7\6]
6SHF QDXF] . XUIXUD
ICT\ND GID QDXF]\FLHIL GU
GNRFT\IDV _URID (G\ID

: &/ &l&
©7/ G/
8&.81%$/ .-1

8&.81$/ .-1/

JU JJIRGQIH T 1DSIVDPL
Z 8626

7\6]

36: JHVSRA
LQVIUXPHQIDIQH =HVSRi\
IQVIWXPHQIDIQH iZ GU
KDE 3RGRIVNL /HViDZ

SIRI 8-* =%
©/ ©7/
(0o

7\6]

&Kyl UZ 36: &Kyl
GUKDE -H]LRURZVAL
3UIHP\VIDZ =%

7/ ©7/

©7/ ©o
033/

033/ 033/




=LPDB

*UXSD 5R]NiDG (V4 7\J
7N
=
T
W
8 3UI\JRIRZ
= DQUH SUDF\
% (LFHQFIDFNL
L HEVHP 1
< RZRUJ\Q
) GiDZIEVND
$QQD =%
©/
> 7N 7N
< HVIRUD PX\NL] $QDIID G]IHD
x WHIDIXUa PXI\FIQa Z PXI\FIQHIR Z GU
N -RVIJHZD UJ\V]IRI =DI 3RSRZVND ODUID =DICFL
CFDRQUQH ~ (O / DRQUQH (O /
7N 7N
CI\WWREF\ (O / $QDIID G]IHiD ™
o - " PX]\FIQHJR iZ GU
6-2X = DVINQJIRQD 3RSRZVND ODUID =%
©/ 3UT\JRIRZ
DQLH SUDF\
(FHQFIDFNL
HI VHP G
a U GIDFKXUD
8 %RIXVIDZV
3 ND $QQD =
< %
©/
INJRGQIDFK
RG GR
1DIEFID
z
JRG]IQDFK
7N 7N 7N 7\G] 7N
“\GDNI\ND SUJHGPIRIRZD QDXF]DQIH 6SHF QDXF] (PLVID 6SHF QDXF] . XIXUD
OX]\N. Z VINRH SRGVIDZRZHI PJU . RVID &Kyl UZ 36: &Kyl JRVX_1RZRUNQ IC]\ND GID GDXFI\FLHL GU| |6SHF QDXF] (PLVID
ZRQD (O / GUKDE -H]IRURZVNL GiDZIEVND $QD =% /DQJLHI &HF\ID =% JRVX_1RZRUINQ
3UHP\ViDZ =% ©7/ @G (O/ 8&.8| |GIDZIEVD $QQD =%
©/ ©7 / 8&.81%/ 1$/ .-1 8&.81% ©7/ @G
©7/ o (~ 8&.81%/ (* /.17 / 8&.81$/
z 033/ / 2 (*8&.81$/ (*
= 033/ 033/ JU JIRGQH ] 1DSIVDPL /
2 78626 7N JU 1JRGQIH ] IDSIVDPL
N Z XVRV
T ™ GSHF QDXF] . XUIXUD

&Kyl iZ 36: &Kyl
GUKDE -H]LRURZVNL
3UJHP\ViDZ =%
7 ©7/
©7/ ©o

ICT\ND GID QDXF]\FIHIL GU
/DQJIHI &HF\ID =

7/ G/
8&.81%$/ .-1
8&.81$/ .-1/

JU JIRGQIH T 1DSIVDPL
Z 8626




=LPDB

*UXSD 5R]NiDG (V4 7\J
7\6] 7\6]
6SHF 6SHF
QDXF] QDXF]
D) (PWID
IET\ND GID JRVX 1RZ
QDXFI\FIHL RUI\Q
el 6:DZIEVND
z /DQILH $QQD =%
L &HF\ID =
2 ©/
N ©/ @7/
= @7/ 88.8
e 8&.8 1$/
18/ (* 8&.8
-1 1$/
8&.8 1% </
/7 -1 3
/ JIRGQH T
Rl oswoPiz
JJRGQH ] 8626
10swDPL Z
8626
7\ 7\ 7\ 7\
36 = =HVSRA ZRNDIQH 36 = =HVSRA ZRNDIQH 36: JHVSRA 36: JHVSRA
z =HVSRI\ ZRNDIQH (Z GU =HVSRI\ ZRNDIQH (Z GU LQVIXPHQIDIQH =HVSRA LQVIXPHQIDIQH =HVSRA
z KDE -HJIRIRZVNL KDE -HJIRIRZVNL LQUIXPHQIDIQH GZ Gl LQUIXPHQIDIQH 4Z Gl
O 3UIHP\ViDZ =% 3UIHP\ViDZ =% KDE 3RGRIVNL /HV:DZ KDE 3RGRIVNL /HV:DZ
2 ©/ ©/ ©/ ©/ SIRI 8-" =% SIRI 8-" =%
©7/ [C)e) ©7/ o ©/ ©7/ ©/ ©7/
033/ 033/ o o
033/ 033/
o
©




